
Made in Brazil.
October/ 2023

2023

FULL

TWO



Made in Brazil.
October / 2023

2023

packaging are to

Full



Curva Rattan Full Bed - Parts:

Phillips screwdriver Hammer
1 h

MANUFACTURER LABEL
DO NOT REMOVE !

Made in Brazil.
October / 2023

2023

1

2

3

4

5

7

8

10

1010

10

12

12
12

12

12

13

6

6

10

10

10
10

11

11
11

11

11

9



12 -  Wooden dowels 

 1 3/16" (10 x 30mm) (A)

12 -  Bolts

3 1/ 1/42" ( " x 90mm) (B)

04 -  Bolts

10 -  Bolts

3 1/2" (7 x 90mm) (C)

1 9/16" (7 x 40mm) ( )D

12 -  Screws

26 -  Screws

1 3/8" (  x 35mm)3,5  ( )E

1 3/16" (4 x 30mm) ( )F

FOR MISSING PARTS OR HARDWARE:

DO NOT CONTACT THE STORE WHERE YOU MADE YOUR PURCHASE.DO NOT CONTACT THE STORE WHERE YOU MADE YOUR PURCHASE.
Please contact the manufacturer directly at customercare@pkolino.com or 888-403-8992.
For customer service cases involving hardware please provide the part number.

Identify the size and type of hardware using the illustration below:

0  -1   Allen wrench ( )H

12 -  1/4 Half Moon Nut ( )G

02 - Wooden spacer ( )I

26 -  Screws

1 3/16" (4 x 30mm) ( )F



08

01

1 3/16" Wooden Dowel 

1/4" Half
Moon Nut

A

G

Step 1

Step 2

Headboard

Headboard

Insert  wooden dowels  into the holes  as shown in the diagram.8  on to parts  and (A)

Hammer

A
A

A
A

A
A

A
A

Attach part  on part  with 1 bolt  using 1 Allen wrench .
  part  with 1 bolt  and 1 Half moon Nut ,using 1 Allen wrench .Attach part  on

G

H+C

H+B

8

5

G B and C

8

5

01

01

B

C

3 1/2" Bolt

3 1/2" Bolt

H 01Allen
wrench

H

1

 PLEASE ASSEMBLE
 ON THE GROUND



Phillips screwdriver

Step 4
Headboard
Attach part  on to part   with   , using 1 s  and 8 Screws Phillips Screwdriver.

Step 3
Headboard

01

01

B

C

3 1/2" Bolt

3 1/2" Bolt

H 01Allen
wrench

011/4" Half
Moon Nut

G B+H

C+H

G

G

H

9

08E
1 3/8" Screw

E

E

E

E

E

E

E

E

 PLEASE ASSEMBLE
 ON THE GROUND

B and C

Attach part  on parts  and  with 1 bolt ,1 bolt ), 1 half moon nut , using 1 Allen wrench .

EE
E

E

ATTENTION:
JOINTS!

RATTAN INSIDE
THIS FACE

5

8

2

1

2



Step 6
Footboard
Attach part  on the part 
Attach part  and  on the part and with 2 bolts and 2 bolts
using 1 Allen wrench .2 Half moon nut  and 

Step 5

13

04
1 3/16" Wooden Dowel 

A

Footboard
Insert  wooden dowels  into the holes  as shown in the diagram.4  on to part (A)

Hammer

A
A

A
A

021/4" Half
Moon Nut

G

02B
3 1/2" Bolt

H 01Allen
wrench

13

13

B+H

H+C

C+H

H+B

G

G

 PLEASE ASSEMBLE
 ON THE GROUND

ATTENTION:
HOLES FACING UP!

7

7

G

H

B and C

3

4

Step 1



Attach  part  on to parts  with 4 Screws , using 1 Phillips Screwdriver.

Step 7
Footboard

Step 8
Siderails
Attach the derail  on the  with 2 bolts  and  Si  headboard
2 Half moon nuts , using 1 Allen wrench .

Phillips screwdriver

04E
1 3/8" Screw

021/4" Half
Moon Nut

G

02B
3 1/2" Bolt

H 01Allen
wrench

MANUFACTURER LABEL 
DO NOT REMOVE!

B+H
B+H

G
G

H

B

G

13
7

E

E

E

E

6

In this step 

  to2 people
is necessary

avoid damage.



Step 9
Siderails

Step 10
Siderails
Attach the derail  on the    Si  and

Attach the  on the  with 2 bolts  and   Siderail 

with 4 bolts  and 4 Half moon nuts , 
using 1 Allen wrench .

2 half moon nuts , using 1 Allen wrench .

04

02

1/4" Half

1/4" Half

Moon Nut

Moon Nut

G

G

04

02

B

B

3 1/2" Bolt

3 1/2" Bolt

H

H

01

01

Allen

Allen

wrench

wrench

H+B

B+H

B+H

H+B

H+B

G
G

G
G

F
F

H+B

H

H

B

B

G

G

In this step 

  to2 people
is necessary

avoid damage.

MANUFACTURER LABEL 
DO NOT REMOVE!

6

6

In this step 

  to2 people
is necessary

avoid damage.



x5
H+D

H+D

Step 11
Bed Slats
1) Attach the slat   the  with 2 screws s 11 on  parts 12 , using . 1 Allen wrench 

11

12

H 01Allen
wrench

10D
1 9/16" Bolt

FI
I

26
1 3/16" Screw

Phillips screwdriver

F

I
Wooden spacer

F

F

F

F

F

F

F

F

F

F

F

F

F

F

F

F

F

F

F

F

F

F

F

F10

F

F
10

10

1010

10

10

10

4) Please note warping may occur because it is natural wood.To facilite the placement of the screws, 

you must press the two siderails simultaneously.

Step 12
Bed Slats

3 s  and  4) Attach the lats with 2  screws , using 1 Philips screwdriver.

2) use the wooden spacer to limit the space between the slats.

1) Attached the rst slat to the end of the side rail base with 2 screws .   , using 1 Phillips screwdriver

11

11
11

11

11

The first slats must be fixed to the end of the 
side rail bracket. 
After fixed the first slat use the hardware letter ’’ ’’ I
to help define the space between each next slats. 
Use 1-  on the left side rail and 1-  on the right side railI I

(=0mm)

10

10

F
I

I



x5

Step 11
Bed Slats
1) Attach the slat   the  with 2 screws s 11 on  parts 12 , using . 1 Allen wrench 

11

12H 01Allen
wrench

10D
1 9/16" Bolt

OPTION 1



x5

Step 11
Bed Slats
1) Attach the slat   the  with 2 screws s 11 on  parts 12 , using . 1 Allen wrench 

11

H 01Allen
wrench

10D
1 9/16" Bolt

OPTION 2

12



FI
I

26
1 3/16" Screw

Phillips screwdriver

F

I
Wooden spacer

F

F

F

F

F

F

F

F

F

F

F

F

F

F

F

F

F

F

F

F

F

F

F

F

F

F

4) Please note warping may occur because it is natural wood.To facilite the placement of the screws, 

you must press the two siderails simultaneously.

Step 12
Bed Slats

3 s  and  4) Attach the lats with 2  screws , using 1 Philips screwdriver.

2) use the wooden spacer to limit the space between the slats.

1) Attached the rst slat to the end of the side rail base with 2 screws .   , using 1 Phillips screwdriver

11

The first slats must be fixed to the end of the 
side rail bracket. 
After fixed the first slat use the hardware letter ’’ ’’ I
to help define the space between each next slats. 
Use 1-  on the left side rail and 1-  on the right side railI I

(=0mm)

10

10

F
I

I

11

11

11

11

10

10

10

10

10

1010

10






